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HmES | EEER (Q) | B

R1 1.300k S ERIEET
R2 1.303k ERBEEEM
R3 1.300k & B IR
R4 1.303k B R I
R5 10 & B IR
R6 10 & B IR
R7 10 & B IR
RS 10 S E R ER
R9 0.819k & B IR
R10 10.01k ERBEEEM
R11 239.3k & B IR
R12 1.001k S ERIEET
R13 158.3 B R I
R14 10 & B IR
R15 10 & B R IR
R16 0.560k & B IR
R17 1.300k & B IR
R18 10.02k & B IR
R19 10 S E R ER
R20 10 S B RER
R21 1.003k S ERIEETT
R22 10 ERBEEERM
R23 10 & B IR
R24 240.2 B R I
R25 0.563k & B IR
R26 0.818k & B IR
R27 160.7 ESRBEEERM
R28 10.02k & BRI
R29 1.004k & B IR
R30 10 ERBEEEM
R31 10 & B IR
R32 0 S E R ER

HmES | ERER (Q) | B

R33 10 & i I
R34 10 & B R EE
R35 240.6 & B R EE
R36 10.2 SR IR
R37 0.561k & BRI
R38 160.8 & B R EEH
R39 240.0 & BRI
R40 3.009k & BRI
R41 10 & BRI
R42 0.0 & BRI
R43 1.002k & B R EE
R44 159.9 & E R
R45 0.562k SR IR
R46 1k AR
R47 10.2 ERERERM
R48 10.4 & BRI
R49 10.2 & B R EEH
R50 5k AT
R51 5k R
R52 1.001k & BRI
R53 1.001k S EREEM
R54 10.3 & B R EE
R55 10.2 & B R EE
R56 10.3 SR IR
R57 10.4 & BRI
R58 5k AT
R59 5k R
R60 1.000k & BRI
R61 1.002k & BRI
R62 10.2 EEEER
R63 10.2 & BRI




HmE s | EEREHR (Q) | B
RA1 10.4 & B IR
RA2 10.2 & B IR
RA3 3.004k &8 I
RA4 5.08k B I
RA5 10.4 & B IR
RAG6 0.509k & B R IR
RA7 0
RAS 0.510k & B IR
RA9 10.2 & B IR
RA10 3.000k S E R ER
RA11 10.2 & BRI
RA12 5.08k SERIEETT
RA13 10.3 & B IR
RA14 10.4 & B IR
RB1 10.3 & B IR
RB2 10.2 S E R ER
RB3 3.015k & BRI
RB4 5.11k &8 R I
RB5 10.4 & B IR
RB6 0.510k & B IR
RB7 0
RBS8 0.512k & B IR
RB9 10.3 & B IR
RB10 3.009k & B IR
RB11 10.2 S E R ER
RB12 5.13k & B IR
RB13 10.4 & B IR
RB14 30.3 & B IR
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HnES | mEER (F) | B (E)

C1 0.1p BEtI3Iv7

C2 1004 EBRE (50V)

C3 1004 EBIE (50V)

C4 0.1 EEtI3Iv7

C5 1004 EBfE (50V)

C6 0.1p i 1=R i AN

C7 0.1 BEtI3Iv/

Cs8 6.8 2 %)L (35V)

C9 0.1p BEtI7Iv7

C10 1004 BHF (50V)

C11 1004 BHF (50V)

C12 0.1p BEtI73Iv7

C13 1004 BfE (50V)

C14 0.1p HBEtIIv7

C15 0.1 BExI3Iv7

HeES | EERER (Q) | B
RC1 10.3 & BRI
RC2 10.3 & B R EE
RC3 2.995k & i I
RC4 5.12k SR IR
RC5H 10.2 & B R EE
RC6 0.513k & BRI
RC7 0
RCS8 0.511k & B R EEH
RC9 10.2 & BRI
RC10 3.000k &8 R R
RC11 10.3 & R I
RC12 5.12k S EREEM
RC13 10.4 & B R EE
RC14 30.5
RD1 10.4 & BRI
RD2 10.3 &8 R R
RD3 3.002k & BRI
RD4 5.11k & i I
RD5 10.4 & B R EE
RD6 0.512k & BRI
RD7 0
RDS 0.514k & BRI
RD9 10.3 & B R EEH
RD10 3.010k & BRI
RD11 10.1 B i R
RD12 5.12k & BRI
RD13 10.2 & BRI
RD14 30.5
HnES | EEER (F) | B (WE)
C16 0.1p HBExtI73Iv7
C17 1004 BE (50V)
C18 1004 EBIE (50V)
C19 0.1 BExI3Ivy
C20 6.8 & (35V)
C21 -
C22 0.1 EEtI3Iv7
C23 1004 EBE (50V)
C24 0.1p HBEtI73Iv7
C25 6.8 & (35V)
C26 0.14 BExI3Iv7
C27 6.8 &%) (35V)
C28 1004 BIE (50V)
C29 0.1p & v F I (35V)
C30 0.1 BEtI3Iv/




HaE s | EiRER (Q) | B (TE)
C31 -

C32 6.8/ &N (35V)
C33 0.14 HBEtI3Iv7
C34 6.8 & v (35V)
C35 6.8/ Z N

C36 6.8/ 7

C37 0.1p BEtI3IvY
C38 0.14 BEtIIvY
C39 -

C40 0.14 BEtI3IvY
C41 1004 & 2 (10V)
C42 -

C43 0.1p BEtI73Iv7
C44 1004 & %)L (10V)
C45 6.8 g

C46 6.8 g
AT | ERER (F) | BE (HE)
CA1l 0.1p BEtI7Iv7
CA2 6.8 A 1%

CA3 0.14 HBEtIIv7
CA4 6.8/ &I

CA5 0.1p BExI3IvY
CA6 6.8/ &I

CA7 0.1 BExI3Ivy
CAS8 6.8/ &I

CA9 6.8/ &Y
CA10 22p tI3Iv7
CA11 0.14 BEtI3Ivy
CA12 0.1p BEtI7Iv7
CA13 6.8/ &I
CAl4 10p 73w
CB1 0.1 BExI3Ivy
CB2 6.8/ &I

CB3 0.1p BEtI3IvY
CB4 6.8/ &I

CB5 0.1p BEt73Iv7
CB6 6.8 &I

CB7 0.14 BEtI3IvY
CBS8 6.8/ %

CB9 6.8/ &I
CB10 22p 73w
CB11 0.1p HBEtIIv7
CB12 0.1 BExI3Iv7
CB13 6.8/ &I
CB14 10p 73w

HmES | EERER (Q) | BHE (M)
C47 0.1p BEtI7Iv7
C48 0.1p BExI3Ivy
C49 6.8/ g HIN

C50 6.8/ A%

C51 0.1p BExI3Ivy
C52 0.14 BExI Iy
C53 -

Ch4 0.14 V=R AN
C55 1004 2 2 (10V)
C56 -

C57 0.1 BEtI3Ivy
C58 1004 & 2 (10V)
C59 6.8 & HI

C60 6.8/ & HI

C61 0.1 BExtIIv7
C62 0.14 V=R AN
HaES | EERER (F) | BE (TE)
CC1 0.1p HBEtI73Iv7
CC2 6.8 A%

CC3 0.14 HBEtI3Iv/
CC4 6.8 A%

CC5s 0.1p BExIIvY
CC6 6.8/ A%

CCr 0.14 BEtLIIvy
CC8 6.8 A%

CC9 6.8 A%
CC10 22p tI3Iv7
CC11 0.14 BEtI3IvY
CC12 0.1p HBEtI73Iv7
CC13 6.8 A%
CC14 10p £I3Iv7
CD1 0.1 BExI3Ivy
CD2 6.8/ A%

CD3 0.14 BEtIIvY
CD4 6.8 A%

CD5 0.1p BEt73Iv7
CD6 6.8 A%

CD7 0.14 BEtIIvY
CDS8 6.8 A%

CD9 6.8 A%
CD10 22p £I3Iv7
CD11 0.1p HBExtI3Iv7y
CD12 0.1 BExI3Ivy
CD13 6.8 A%
CD14 10p tI3Iv7




2 TEEEH
EFEEFOHNEBEIZLITOMED

E2li) BHE (V)
+15V 15.07
-15V -14.97
VFET 15.00
HIGH 4.91
CELLWELL 4.95
BIASPOWER | 4.93
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Gain
Gain

R6=1kQ, R8=10k(}, C=10pF
— — — —R6=1kQ, R8=10kQ, C=5pF
— — R6=1k(Q), R8=10kQ, C=1pF

R6=510Q, R8=5.1k0, C=10pF
— — — —R6=510Q, R8=5.1kQ, C=5pF
— — R6=5100, R8=5.1k0Q, C=1pF

Hz Hz

2 VT ITDFAL Y, EH RS = 10kQ, R6 = 1kQ DL & W RS = 5.1kQ, R6 = 5100 D &
&, FRFER. C=1p,5p,10pF D75 72T H 5,

SFEFIFLEBRERTINDBEDL D ICHRE S DERLCDBLUTORTH S, FHIDFR—KRIZ RS =
10kQ, R6 = 1kQC = 5pF T. SEDHK—Kix RS = 5.1kQ, R6 = 5100C = 10pF % DT . RIS
IR THE L BbNr5.



